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1���.  

�� 
�������� �� ������� x, y, z � t � ���
���� x + t = 7, y + z = 6  0,5 ����� 

�� 
�������� �� x, y, 6 – y, 7 – x       0,5 ����� 

	� ������������� ��������� y2 = x(6 – y)      1 ����� 

	� ������������� ��������� 2(6 – y) = y + 7 – x, x = 3y – 5   1 ����� 

�� 
��������� � ���������� �� 4y2 – 23y + 30 = 0    1 ����� 
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a) ���������  �������� �� !��� x1 + x2 = sin2
α  � x1 x2 = – cos2

α    

x1 x2 1≥ −  � x1 0≠  � x2 0≠         
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xx
+ =  – 1 � ���������� �� x1 + x2 =  – x1 x2  1.5 ����� 
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log log 2 log log 2 log log 2 log log 2 log log 2 3
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1 1 2 1 1 2
( log 16 3log log 32 2log ). 2 ( .4 3.( 2) .5 2.( 3)). 2 4 2
2 4 5 8 2 5

N = − + + = − − + + − =  1 ����� 

 

�������� �� ��%��� �� ABCΔ : 21 2
3.4 2. 6

2 2
S cm= =     1 ����� 

3 ���.  

	���$�����, �� AKMΔ � BLMΔ �� ������������    1 ����� 

�
��$, �� KM = AM, ML = BM � KM + ML = a (KM = x, ML = y)  0,5 ����� 

�
��$, �� �KML = 60°     0,5 ����� 

	���$����� ��%��� �� :KLMΔ
1 1

. .sin 60 3
2 4

S KM ML xy= ° =   1 ����� 

��������� �� ���������� ������� �� :KLMΔ      

2 2 2 2 cos 60d x y xy= + − °         2 ����� 
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